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101. Which one of the following is the correct composition of Brass?

(A) Cu-50%; Sn — 50% (B) Cu—-60%;Zn — 40%
(C) Zn —70%; Sn — 30% (D) Fe — 40%; Ni- 60%
Gaéselamnle Llggsemeruler orlwmer 2 Coumssisevemealulledr F&aigh
6T6OT60T?

u — 507 ; dSn - 507 u— 007 ; 4Zn — 407
A)C % ;S % (B)Cu-60% ;Z %
(C)Zn —70% ; Sn — 30% (D) Fe — 40% ; Ni — 60%

102. What is Phototropism?
(A) movement of plants towards chemicals
(B) movement of plants towards light
(C) movement of plants towards soil
(D) Response of plants for day length
GUTLGLTLFTLILI6nLD eTedTMmITEV 6T60T60T?
(A) @z serfler Caud QUTIH6T CHITEHHW G UISHEHLD
(B) Q&g serfleir sperfl GHTEHER W @) UISHSHLD
(C) @& serfler Wevor CHMTEHW @UISELD
(D) Q&g serfler serfl &Mevs S 6 e 6ot

103. Match the following:

Tribe Region
(a) Masai - 1. Angola
(b) Saami - 2. Kenya
(c) Kalinga - 3. Philippines
(d) Bush Men - 4. Siberia
QUM S &
LI MBI L9.ulleor i NrGs&1d
(a) n&mul - 1. BICSH TV
(b) &md - 2. Q&eTwT
(c) sedmissT - 3. L9681 16t L1 60T6ML
(d) usT weflsTseT - 4. e LSl
(a) b)) © (@
Aa =2 4 3 1
(B) 2 1 3 4
© 1 2 3 4
(D) 4 3 2 1
104. Who started Home Rule Movement in India?
(A) Annie Besant (B) Sathiya Moorthi
(C) E.V. Ramasamy (D) K. Kamaraj
@BH WML STl & @QUISHSHE5ME TIDLINGSHIT WITH?
(A) ojetreilQLIG6OTL (C) 58 Wan5S

(B) Fr.el. Quflwmy (D) ®. srwynEy



GROUPII 2018 ANSWER KEY VETRII IAS STUDY CIRCLE
Call: 9600124042 / 9840097666

105. Tamil Books were printed firstly by whom?

(A) Rev Zieganbanlg (B) Rev. Schwartz

(C) Rev. Grundler (D) Robert De Nobili
(DS (LPGHEVMS SLOILD LSS EHMBISGN6T AFFL Ll wWmy?

(A) Ex:eTUITVG W (B) sreumrjLenv um@ flwiry
(C) & mevorL_ev syuwiry (D) grmurliy @mmiied

106. The Portuguese Sailor who reached Calicut in 1498 A.D. Was?

(A) De Almeida (B) Vasco da Gama

(C) Robert Clive (D) Albuquerque

149810 9L,600T(H SHeiTerflECHTL_emLemUl 6L b CLUMTTSSHSHSA W mentdl wimy?
(A) 9. 9160QWUILIT (B) aumen@s L& mnm

(C) pmuiL \emerey (D) o608

107. On behalf of the Justice Party, who won and formed the ministry in 1923
Election?
(A) T.N. Sivagnanam Pillai
(B) P.Thiyagaraja Chettiyar
(C) T.M. Nair
(D) M.C. Raja
1923-10 @LevoT() BeOLQUMM CHFHL BHGHELF Fryums: Qeaumml Qumm
L Fenwl emnGSHeUT WITy?
(A) T.N. Sleuepmeorid LNeiTemer
(B) P. wnspmey Q&g uwimy
(C) T.M. mrrwiy
(D) M.C. grrgm

108. The institution of Lok — Ayukta was established first in the state of

(A) Gujarat (B) Maharashtra

(C) Rajasthan (D) Kerala

GeVIMEH-SLU|SHSIT (NG (NG606V 6THS LDMHBIVSH ) MG SHLILL L SI?
(A) &QITs (B) wamymegLyr

(C) rregerogment (D) Gayerm

109. Who said “The Directive Principle of State Policy is a Novel Feature” of the
Indian Constitution?
(A) K.T. Shah (B) B.R. Ambedkar
(C) Aladi Krishnaswamy Ayyar (D) B.N. Rao
@B ArfRweemnliley "ors albasTlm QB ME 2 _60T60TS L0 M6oT
LievorL]" eTedTml Sm MIWIG! WITH?
(A)K.T. aqm (B) B.R. 9|lbGUG &I
(C) @19 R (eqevora Ll Uiy (D) B.N. el Q& MeTens 1f

110. The Members of the Central Administrative Tribunal are given status of Judges
of High Court from an Amendment in the Year:



GROUPII 2018 ANSWER KEY VETRII IAS STUDY CIRCLE
Call: 9600124042 / 9840097666

(A) 2003 (B) 2004 (C) 2005 (D) 2006
WS W SFLiLmu 2 milNerIsEhsHE 2 WFbhEneTm HH U ESHTEr 3iH&eVS
QIPMBIGLILLL FUL HHSSD CLoMQ&TeTeTLILL L p600m(h).

(A) 2003 (B) 2004 (C) 2005 (D) 2006

111. What is the aim of Pradhan Mantri Gram-Sadak Yojana?
(A) Provide all Weather road connectivity
(B) Provide all Weather to Tele communication connectivity
(C) provide Food Security in all seasons
(D) provide Education to all people
‘Wrsw wHHF Kyrn FLTé: CUWMReTT” HLLEH T CHTHED (&M &HEHTET)

6TSI?

(A) simeTUBHGILD AUMEOTES LIHel SHTVBIGEH&HGD FTemey 6UFH &6
|G FH60

(B) QamemeuQSTLIL 6UFHEHMET HMeTHS LI[HeU-STVHRSEH&HEGID gL
MGGV

(C) syemeTs sl LiHeU-&TevmigGeflain o emre) LIMSISTLIL Q& Ul&H6)
(D) et6LCBeump& &L Hevall ausED) gmUMT(h Q&F ISV

112. Identify the mismatch:

(A) White revolution - Milk
(B) Green revolution - Food Grains
(C) Blue revolution - Fish

(D) Yellow revolution Flowers
SOUMITET QUITHESHE MG E 5 6vor(H LI19.85 86D

(A) Qeuevoremn LT - LIT6L
(B) usenin UL & - o _6ooT6) SMeuflwilh
(C) Bev L& - LSedoT
(D) nE&eT UL & - LL& & 6T
113. National Agricultural policy aims at a growth rate of % per year.
(A) 3% (B) 4% (C) 6% (D) 8%
CHFIW GEUETITEOIT Q& TETENSHUIMTETS 2,600T(H &S F5eis aleTiEF el
GBM&HSHLINMTE G & TeooT(h 6TeTSI
(A) 3% (B) 4% (C) 6% (D) 8%

114. Find the area of the iron sheet required to prepare a cone 24 cm high with base
radius 7 cm
(A) 704 cm?2 (B) 702 cm?2 (C) 700 cm?2 (D) 668 cm?
24 Q&S 2 Wy SI9UHES WD 7 QFS. Q&ML Smldl SWMfléHEs
GH 606U WIITEOT @ (HLOL]| &H&L_1960T LIFLIL] &IT600TS.
(A) 704 Q&.152 (B) 702 Q&.15.2 (C) 700 Q&.15.2 (D) 668 Q&F.15.2
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115. The Sum of the series 31 + 33 + .... +53 is

(A) 729 (B) 341 (C©) 504 (D) 604
31+ 33 +.... +53 eTeoTm QSMTLIf160T Fon(H FH6V 6T60T60T?
(A) 729 (B) 341 (C) 504 (D) 604
116. The Value of 3’61284 is
2 2 16 32
(A)3 (B) 3 © 4 (D)
2 ;128 -60T LOGILIL
2 4 16 32
A2 (B) 2 OF: (D) 2
117. The Cube root of 0.027 is
(A) 3 (B) 0.003 (©)0.03 (D) 0.3
(0.027) 6T BevT eLpeVLD
(A) 3 (B) 0.003 (©)0.03 (D) 0.3

118. Given the pie chart. Obtain the pass percentage of student who passed in 1st

Class.
Passed in Second . ¢ ) . —— Paszed in First Class
Class [ b '|
i '\._.-'I 3|:,£l 1
: i ..}-
ol " ¥ Failed
Paszsed in.Third Class
(A) 35% (B) 30% (C) 10% (D) 25%

@bs eeflal L elleng:s LULSHONMBHS OMorelf&HeT (& auGLiL CHIF&
QUMMEITEETSE (W& T(H 6T6oT6oT?

Eramirmb auglndsn Gsred (pmed sl s gt s

(g &8 Quum Sault et
yﬁn’rxgu'l augllsh Rt éd
(A) 35% (B) 30% (C) 10% (D) 25%

119. The Crop which gets affected by pink ball worm is
(A) Banana (B) Wheat (C) Mango (D) Cotton
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@eTEhHaullL] LB LjWpeumey UmH&asLiu@m uully

(A) aurmemiLp (B) Gx:msiemin (C) o (D) uBSH
120. World’s First block chain bond was launched by

(A) Reserve Bank of India (B) World Bank

(C) Hong Kong Bank (D) State Bank of India

2 & er (n&ev Block chain LS&THMES AMWSLILGSH W euUEIG

(A) @bSHw fleFeu eumis (B) 265 aumIH

(C) ammmismh eumG (D) @bS w 6uGLL aumiS

121. Which of the following programme aims at the promotion of savings among
rural women?
(A) Jawahar Rozgar Yojana (B) Pradhanmantri Mahila Yojan
(C) Rashtriya Mahila Kosh (D) Mahila Samridhi
L9 60T 60 (T 61 60T 6L (D )1 61T TS L LD S\gmwlym 0 & 6rflif 6ot GaLilLliemL
2615 GLILSMETH SeMDESSLILLLSI?
(A) geuamy Gy GuwimeeorT
(B) L mernbS if] InGermm GulmeleorTm
(©) gmaq L_ifw inSerm G& e
(D) m&erm Fnif1H)

122. Which of the following policy brings 5 Lakh acres under Organic Farming?
(A) Shyama Prasad Mukherji Rurban Mission
(B) Pramaparagat Krishi Vikas Yojana
(C) Pradhan mantri Krishi Sichai Yojana
(D) PM Fasal Bima Yojana
G 26T6MT  THQHTETME 5 LFWD g&HET BlemGemneT @umend
GeueTmesoren LD UN 60T GHLp Q& MeuoT(h) 6 (H6U S ?
(A) equImom Lpgns (Wnaiedl emiyLet Lileqgeor
(B) ugwwrmurss siflad] ellgmen Guimsgeorm
(C) upsmerwbs i &ifladl ag e Ml GuimeeoTT
(D) WN.erib.umgev LTDM GuImeleot I

123. 1 Femoto is equal to m.
(A) 10 (B) 1015 (C) 105 (D) 109
1 QuibGLm (Femto) = WSCLy
(A) 100 (B) 1015 (C) 105 (D) 10

124. What is the value of gravitational field at the centre of the Sphere?
(A) Zero (B) = (€)== (D) -GM/r2
GamerLl Leiterfl emnwig&Hev LieNuTTLIL LS H 60T 0SLIL]| WITE?
(A) &4 (B) = (€)= (D) -GM/r=
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125. Which of the following is sensitive to ultrasonic waves?

(A) Man (B) Bat (C) Bird (D) fish
GBS ITET 6260l6M U 2_600T(HLD HEOTEMLD WIT(HEHE 2_6TeTSHI?
(A) wevflge0r (B) Qeuemeurmsy (C) umemeu (D) wSeor

126. In Higher plants the sporophytic phase is formed after growth and development
of the Zygote point out the type of cell division involved in this growth.
(A) Mitosis (B) Meiosis
(C) Amitosis (D) Zygotic Meiosis
2 WFeuemnd SHTeUFmiGerfer eruCUTGITemLL IS Bleney enFCSHITL Q6T aUeTHFH
WLTHMSSTL 2 ((HUTHMS. ahHEH auemnd Qe Ufley @56 QsueL®BRma
GTOTLIENS SFL_19&5STL (.
(A) e Lmerdlenv (B) WBlwimereiv
(C) gemL_LmenSlerv (D) emsCamigs Wwmendleny

127. Kuhne’s tube can be demonstrate the process of
(A) Fermentation (B) Germination of seeds
(C) Growth of plants (D) Aerobic respiration
S 6OTeN GLPMUL 6T[HG BlSLhemal BlemLl&E W0 ?
(A) QBTEHSH60
(C) smeury aueTi&d
(B) eflems (Lh6m6E 5560
(D) smmmiemLW &alTH & 560

128. Which of the following statements regarding soil are correct?
1. Soil is a dynamic natural element
2. It is composed of both mineral and organic matter
3. The Characteristics of soils depend on parent rock
4. All the soils having a well-developed soil profile.
(A) All are correct (B) 1, 2 and 3 are correct
(C) 1, 2 and 4 are correct (D) 1, 2 and 4 are correct
L edTeu (LD LD6T0T & MI& &5 MeoT 6UME: & WIBIGH6rev &IflImeTenel 6T eTem6l?
1. LDGDOT LOMMILD &63TemLD Q& M60oTL. @ UIM 6 & & ITJ600l|
2. @EUGEHET HMHIHSHET LDMHMID 2 Ul DL G SHETTEV L60T6M6
3. @\ emeuderfledr LietorL| 2 (Heumeor Limenmuilener QUITMISCSH 3iemnnGH 6T Sl
4. SIS S D60 MBS EHLD GUETIFEFWLHS GMIHEG Qall-(h CHTMHMENSH
Q& IT600T LY (H &G LD.
(A) 9iemetsEID FflGW
(C) 1, 2 nOmild 4 WL HLD &l
(B) 1, 2 inmmith 3 (b &Fif
(D) 1, 3 nMmID 4 LB &Fifl
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129. Who was the founder of the Thiruchenkodu Ashram?

(A) E.V. Ramasamy Naicker (B) Rajaji

(C) Gandhiji (D) C.N. Annadurai
FHFQFRICHTH WF TSNS BlmiedwedF Wmy?

(A) @.Qau. prwemdl BTWESST (B) pregmed)

(OF:A15E) (D) ©).6T60T. 2 6TOTET0T TSI 6T

130. Annamalai University was started in the year?

(A) 1915 (B) 1929 (C) 1921 (D) 1945
2| 600TE0OT ITLOEM6V LIV 606V E LS LT IDLNG&ILL L 3),600T(H
(A) 1915 (B) 1929 (C) 1921 (D) 1945

131. Which congress conference was attended by Bhartiyar?

(A) Surat Conference (B) madras Conference
(C) Bombay Conference (D) Lucknow Conference
6TH& SHITMHIG TN IDMBTLLG60 LITTHWTT &6V S Cl8MeoorLiT?

(A) &5 BT (B) Qzerement LOMHBT(H
(C©) ubumw wrBT@ (D) sv&Geormr LOMHT(H)

132. Who extended co — operation of PuliTevar?
(A) The French (B) The English (C) The Portuguese (D) The Dutch
L5855 2876 Q&THISS6 ST Wj?
(A) NOTEh&s&&TTIS6T (B) oy,mSGeuwlyos6T
(©) cuMIEsHSERNWTsH6T (D) LE&GSTTIHET

133. Which one of the following Parliamentary Committee is Semi — Judicial in

Nature?

(A) Committee on Petitions (B) Ethics Committee

(C) Committee on Privileges (D) Rules Committee

GG G600TL LIMTTMTEBLOETME & (&S0 6ThS @ GW UTH BH LflLimevet
SH6OTEm 0| 6mL_WIGI?

(A) el evoTemorLILIS &P (B) 210QBas G

(©) Apuyflemns W (D) al®&& W

134. The Constituent Assembly of India was set up according to the proposals of
(A) The Cripps Mission
(B) The Cabinet Mission Plan
(C) The Mountbatten Plan
(D) The Nehru Plan
@BrHW  rPweemlolil] BlFeoTw Feml  WM@GenLWw  perQomyledleor
I LILemLulev gmUBSSLILILLSI?
(A) @16 e 60T
(B) Caieorl_ e 6dT HL_L_LD
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(C) eyevor. GUILL6dT LD
(D) GB® S LLb

135. Metro Rail service is available in

1. Chennai 2. Coimbatore 3. Trichy 4. Madurai

(A) I Only (B)Iand IV (C)IandII (D) IT and III
QUL EHT gpuilev CFemel aUFH 2 6T @)L LD

1. Q& etTem 60T 2. GHTWILLS ST

3. DmFa 4. ngiemny

(A) 1 LB (B) 1 nmmuib 4

(O)1 moin 2 (D) 2 nmoin 3

136. At the rate of interest compound interest per annum will Rs. 640 amounts to
Rs. 7774.40 in 2 years

(A) 8% (B) 9% (C)10% (D) 11%

21,600T(H Fnl () QUL L] 6TeoTedT FHNHHH O €H.640 eoTS @) T6evoT(h 2600T(H & 6rflev
ep.774.40 QL,&LD?

(A) 8% (B) 9% (C) 10% (D) 11%

137. A Circus tent is cylindrical to a height of 3 m and conical above it. If the base
radius is 52.5 m and slant height of the cone is 53m, find the area of canvas
required to make the tent.

(A) 315 mm? (B) 3097.5 mm2 (C) 2782.5 tm? (D) 2997.5 mm?2
R FIHHMN FalMIOmers 3 W 2 wWFyweTerT 2o (emerulledt W& FaldL
SMWBSTMH CUITETM 6UIQUSTHN6TENSI. AUHET QLSS ST 52.5 LS.
FalDLI 60T MW 53 LS 6T60fl6v, 3168 LT eMNESHS G em6u W TeT &g 8 meoT
Sleoof U edT LITLI60LIS 5560055 (h) 5.

(A) 315m18? (B) 3097.5m182

(C) 2782.5m152 (D) 2997.5m15?

138. Complete the series 1ZA, 3YB, 6 XC, 10WD,

(A) 14 VE (B) 15 UE (C)12 VE (D) 15 VE
1ZA, 3YB, 6 XC, 10 WD, ? etettm euiflen&emn BlIFLIL|&.
(A) 14 VE (B) 15 UE (C)12 VE (D) 15 Ve

139. The Product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the

number is

(A) 320 (B) 1605 (C) 1595 (D) 8oo00

@M eTevoTSHe 6T QLHESHN QFHMams 1600 LMHMID emealdkefler 5.QUT.6l 5
6T6ufl6v eTevoT S 6rfl60T LS.G.10. GLD.

(A) 320 (B) 1605 (C) 1595 (D) 8oo00

140. The Principal amount triples itself at 8% per annum over a certain time. Find
the number of years.
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(A) 20 years (B) 25 years (C) 30 years (D) 35 years

@M GOIULL Femers 8% all iy ef55360 61556060 2,600T(H&6T160 eLN6oTMI
LDL_MI&TGLD 6T60TE &ITE00TS?

(A) 20 eu@Lmse6T (B) 25 eu@pLmisseT

(C) 30 su@pLBiss6T (D) 35 eu@pLmigser

141. What number should be subtracted from each of the numbers 54, 71, 75 and 99
so that the remainders may be proportional?
(A)1 (B) 2 )3 (D) 6
54, 71, 75 LOMMILD 99 660N 6R6UGIGUM(H 6TEO0TETMIL EDILD  6T[HS  6T600T6D)600T &
SPHHTL 915607 IISILD FLNRHHEHH 0 @) [HEESLD?
(A)1 (B) 2 O3 (D) 6

142. Find the difference between simple interest and compound interest for a sum of
Rs. 8,000 lent at 10% p.a in 2 years.
(A) Rs. 70 (B) Rs. 80 (C)Rs. 90 (D) Rs. 100
e;.8,000-& 10% el lg afs5H60 @ueor() er(h&Hefel B GG Fal (B
QLG8 Seofl el 198G 2 6TeT aGHWTFE G 85T600T5.
(A) em. 70 (B) em. 80 (C) em. 90 (D) em. 100

143. The National fruit which is common for Philippines, Pakistan and India is

(A) Banana (B) Fig (C) Mango (D) Jack
LNedlliemuiedreny, LIMS6VGMedT WMmmID @BHW BTH&efler QuUTSalmer C5& W
LILLD

(A) euremip (B) =158 (C) om (D) ueor

144. NREGA gives guaranteed employment for
(A) 50 days (B) 100 Days (C) 150 Days (D) 200 Days
CxFAW o5 Geuemev eumiilily HL L (NREGA), Geusmev 2 §&H\Jeimsid
|6fl&@& LD BITL_G6rfl60T 6T6v0T 6001 860 5
(A) 50 BTl seT (B) 100 mrLser (C) 150 BTl sl (D) 200 mrrLsser

145. The Concept of Goods and Services Tax (GST) was originated from

(A) Canada (B) USA (C) Britain (D) Germany
QumeT mmib GFemal aulfl (GST) eredTLISI 6THBITL 1960 GG MedT MUl Si?

(A) meorLIT (B) ojQwiflasm 868w BT

(C) L Ledr (D) ggineof]

146. Golden Handshake scheme is associated with
(A) Establishing Joint enterprises
(B) Inviting Foreign Companies
(C) private Investment in Public Enterprises
(D) Voluntary Retirement
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FHIG M&HGNHGID HL LD @FHOIL 6T QSTLTLI6ML IS
(A) oLl (b BlmI660THISem6T 2_(H6UTEEH 60
(B) QauerflBmL_(h B M6 60T IS 66T 60D &S 60
(C) sips plomeueTmiGeflev Seoflwmy Wn&HeSH
(D) ellLliu euley

147. Which of the following scheme has the objective to skill 1 crore youth in the
next three years?
(A) Start up, stand up
(B) PM Kaushal Vikas Yojana
(C) MNREGA
(D) Deen Dayal Upadhyaay Kaushalya Yojana
eteu@md  ehsd HLLD 0SS eperm  eorhsksefley  @m GCHmlg
@ 6meTehIs6rfledr HIMedT GLODLIMLIEMETH 2 (HeUMdHaLILIL L &I?
(A) eromiL &L, eruLmeorTL &Ll
(B) LN.eTh.Qs6mF6v elamerv GuImeleoT T
(C) eTh.cTe0r.94,7. @).&5).6T.
(D) et wimeT 2 LIMGW T Smdler Q&emageull Gulmel6orm

148. What is the basic concept of Raman Effect?
(A) reflection (B) incoherent scattering
(C) Coherent scatterin (D) Refraction
e ellenere] 6ThS & SIUGNSH 19 L1LI6ML UM Q& TevorL GI?
(A) Yg&uedliiy (B) 58 cvev geafle& gmen
(C) 258 eeflEGgme (D) geafl eflevaen

149. The Epsom salt which is used as laxative is

(A) MgSO4 7H20 (B) CaS0O,4 2H-0

(C) Zl’lSO4 7H20 (D) CUSO4 5H20

LD6VLD @) 6TEHHIUIMSS LIWLIETLIL 8819 Ul 6TLIFLD 2 _L1L] 6T&I?

(A) MgSO47H20 (B) CaSO42H20

(C) ZHSO4.7H20 (D) CUSO4.5H20
150. Match the following:

(a) Ranthambore 1. Assam

(b) Manas 2. Jharkhand

(c) Nagarjuna Sagar 3. Andhra

(d) Palamala

(e) Indravathi
QUMTMBHSS&H

(a) peoTgmbLLT

(b) wmeorTev

(c) BM&BMTIg 6T EMGHT
(d) umevnev

4. Rajasthan
5. Chattisgarh

1. 91FMD

2. QMygevoTL

3. 2ubETT

4. @\Tmeg6n & meor
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(e) @BH TS - 5. 586050
@ ®® @ @@
Aa 4 1 3 2 5

(B) 4 2 1 3 5
© 1 4 3 5 2
(D) 3 1 4 2 5
151. Humboldt ocean current is otherwise known as
(A) Kuroshio current (B) oyashio Current
(C) Peru Current (D) Florida current
amCUmeLL BCIMLLLD @6UeummmsHea i MWLl 6Tl
(A) sCymadlwm BEymLLLD (B) spwumedl@wim BEImLL LD
(C) Qu@ BEFMLLLD (D) yGermiflLm BEymLLLD

152. ‘Sea Smoke’ is common in?
(A) Equatorial region (B) Desert Region
(C) Atlantic Ocean (D) Artic Region
HL6V L&~ FMSITT600TLOMS &TevorLILI(h 6
(A) LWEHW CIems LGS
(B) umemeveust LNJGSH &L
(C) sl eumevorig.ss G
(D) 247198 LGS

153. Who converted mahendra Varma I from Jainism to Saivism?
(A) Sambandar (B) Appar (C) Sundarar (D) perundevar
WFOMD  CHEHEHTUFNmET R  WSESHNEHS  oFa WLFSHDS
Wrmomlwely wmg?
(A) FDUBST (B) oy (OF:3::0) (D) QuGHEH 6T

154. Name the Chieftain who patronized Kabilar

(A) Ay (B) Adhiyan (C) Pari (D) Anji
sevenT 5 fss CuTHw AHMIFT QUWeTsH GMILILNH 5.
(A) @ (B) @1@ wiedr (C) uri (D) &i1&&

155. Where was the first Indian national Congress met?
(A) Delhi (B) Bombay (C) Calcutta (D) Madras
W6 @QHH W CHAW &MHIGTero6dT Snl L LD 6THIE SnlqUlS?
(A) QLsvedl (B) utburrul (©) mev&mEHHT (D) Q& etremr60T

156. The Forward Block Party was started by whom?
(A) Subash Chandra Bose (B) Motilal Nehru
(C) Rajaji (D) Raja Ram Mohan Roy
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SUTFeUTT® LWeTms &L G WMymel QSTLmIgGLILL L SI?
(A) sumeq FHHTELITEV

(B) Guom®leumey GH(H

(C) prggmed

(D) gmeam g GLOM& 60Tl

157. The Idea of concurrent list was borrowed from?
(A) British Constitution
(B) Canadian Constitution
(C) Irish Constitution
(D) Australian Constitution
QUTSILILILIQUI6 678D H(HH S QUMLILILL &I
(A) @mEReuTHH 6T 3T FuevennlILNeS b S
(B) sseorL_madleT oyFwevemnILNedmbHs!
(C) e 6T T & WevemnILNed B H S
(D) oG flGeuwimelle <& wevemntoliLNedmb S

158. In which year the parliament enacted the Official language Act?

(A) 1955 (B) 1965 (C) 1963 (D) 1957
6TH& QUHLLD LITTTEBL06TMESH 6L javals) QM FU L 1b @uimmUiul L g?
(A) 1955 (B) 1965 (C) 1963 (D) 1957

159. When was the “Industrial finance Corporation of India” established in india?

(A) January 1,1950 (B) July 1, 1948

(C) June 5, 1951 (D) May 1, 1950

"@QBFH W QTS BIHHHpsID" @BHSHWmelley eTHIQUTWS gHLURSSLILLL SI?
(A) sgevteuifl 1, 1950 (B) e&g®6mev 1, 1948

(C) g9t 5, 1951 (D) Gwo 1, 1950

160. Which is the biggest nationalized enterprise?
(A) Bharat Sanchar Nigam Limited
(B) Indian Post Department
(C) Indian Railways
(D) Oil and natural Gas Commission
WNasliouiflu QUTSISSIenm BlMiaIeTLD 6T&?
(A) L9.e1erv.6760T.6T60. (BSNL)
(B) @B W SAEH&F6 Lpemm
(©) @BHw TullérBeu gIemM
(D) etevor@evor Uit 6Tifleumuy Bl mieueoTid

161. In How many years will sum of Rs. 1600 amount to Rs. 1852.20 at 5% per
annum compound interest?
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A)3 (B) 4 ©)5 (D)6
€. 1,600 96075 5% 21,600T(H Tl () QUL 19 675D G5 MevoT(h 615560 60T 36007 (h & 6rfl6v
€p.1,852.20 Hem L& & LD?

(W3 (B) 4 ©5 D)6
162. Simplify [~ 3] - {1 + Gx2)+ 8- [5-1- 1]}

(A) 2% (B) -5% (C) 5% (D)-Z%

FHHSSH -

(= Gr)ranfs-3-3)

Sk (®) 55 () 52t (D)2

163. Find the G.C.D of a3—1and a2-1

(A) az-1 (B) a2+ 1 (Cas-1 (D)a-1
a3 — 1, a2- 1-@ 601 LS.QLIIT.6). B5T600TSs.
(A)az-1 (B)a+1 (Ca3-1 (D) a-1

164. What percent is 5 grams of 1 kg?

(A) 5% (B) 1% (C) 0.5% (D) 0.2%

1 @G RKmM& 5 KD % eredreoT?

(A) 5% (B) 1% (C©) 0.5% (D) 0.2%
165. If% = % = HTa = k, Then the value of k is

(A)o (B)1 )2 (D) a+b+c

a+b b+c c+a . . .

— =—=— = k etevflev k eor L0G)LI1L]
(Ao (B)1 ©)2 (D)a+b+c

166. The ration of boys to girls in a class is 4:5. if the number of boys is 20, then the
number of girls is
(A) 15 (B) 20 (©) 25 (D) 26
@0 UGN LomeooTelFase6rT, nmeoorellliseT &SN 4 : 5. Lomevorel g erfleor
6T600T600T 1856008 20 6T60f16V L0 mevoTe Wi 60T 6TevoT 600185600 85
(A) 15 (B) 20 (C) 25 (D) 26

167. India’s First Bio — Fuel flight was operated between

(A) Dehradun to Delhi (B) Dehradun to Mumbai

(C) Dehradun to Kolkata (D) Dehradun to Chennai

@\hHS W meileor (W6 o _uffl-erflQum@peir aflomeorid @ e6uadl(m
BSHIHIGEH&HH ML CU @UESHLILLLGI.

(A) GLmpm@®edr - QL6vedl (B) GLmym@®edr - (LnLD6vIL

(C) GLMIMTGET - OHBMV&HSST (D) GLmym@®BedT -G & 60160 60T
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168. In Which of the following states, more number of people were affected by 2018

monsoon?

(A) Kerala (B) Assam

(C) Andhra Pradesh (D) megalaya

@D 2.6d76m  WMBVEHL 2018 L@mGe enpulearmsy H&  D&SH6T
UMS LM & eTeT e 6orj ?

(A) Gaperid (B) oy&mb

(C) aubHrlyes &L (D) Guasmeuwrm

169. Which among the following industries generates invisible exports?

(A) Fishing (B) Tourism

(C) Jewellery (D) Handicrafts

L9 edTeu ([Heu 6T HMIET LIeVLILL TS gFMmInGlenl GHmmoiailLiLigl

(A) Ser9g Qg misley (B) s+=mhmievrr siemm

(C) ayugemr Qs MLLl6L (D) emsallementll QUITHLS6T

170. Which of the following agricultural commoditiy of India gives largest interms of
export value?
(A) Tea (B) Basmathi Rice
(C) Spices (D) Cotton
emeupld  eTeuGouemmesoremln 2 MUSSH @bHWmelledr &G &Wmer ghHming)
S LI HHR TN SI?
(A) Csulemev (B) umshvn®) Sifl&
(C) poiID6woT L1 &6 (D) uLEBSS

171. According to 2018 — 2019 budget report, India is at third rank in
(A) Purchasing Power Parity (PPP)
(B) Gross Domestic Product (GDP)
(C) Agricultural Production
(D) Foreign Direct Investment (FDI)
2018-19 BIHBlmen  IMflEGamsliLlg  LNeTeu@pld eTeummieT @ hHSWIT
eeTM ML SFH60 2_6Tems?
(A) aummiIG L HmedT FLnmlenev
(B) Qs s 2 6mBIL(h 2. MUSS)
(C) Geuarmevor 2_MLIGH)
(D) sibBlw GBIY WHSH

172. Which Currency is recently added in the currency basket of IMF?

(A) Japanese yen (B) Chinese yuan

(C) Indian Rupee (D) Brazilian Dollar

THBTLH Brevord FLSLISHe0 IMF-60r Bmevoris nemnlulley CFI&HSLILIL L GI?
(A) guiumesfledT Qulest (B) em&eormedledr U6 medT

(C) @Bp®\w emLImul (D) NCrFeSwedr Loy
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173. What happens in the reduction process?
(A) Loss of electrons (B) Gain of electrons
(C) loss of hydrogen (D) Gain of oxygen
2BH1 55 ellemeruiley &Lb& & 600TL UM Mmlev eTedTeoT Bl&H WM S?
(A) 6T6LE L[ T6OTE 6T @)LOLIL
(B) eTe&L_[FmedT&6IT 6 ML
(C) emamL_yger GLoLiL
(D) <u8eilgenm gLy

174. Galena is the ore of which of the following metals?

(A) Silver (B) Lead (C) Gold (D) iron
&H6560TIT 6T60TLIG B LD &G 600TL_euMMIeL 2 _6T6rT 6THS 2 CeuTHSH 60T HTHILT QLIMTIH6IT?
(A) Qeueterfl (B) ssrifwiib (C) smsId (D) @@Ly

175. A Preparation of Living (or) killed micro — organism (or) viruses used in
prevention of disease through immunization is called
(A) Toxoid (B) Vaccine (C) Viremia (D) Anti — toxin
o WeTter (=) 2wWlgmm Hievoreool Il 2 UNFlOTRIGET (3)) MEUTHVHEM6T  [HLD
2 LeNenieT QG GG THTLIL FHFH 60 2_(H6UTHE6UH MG 6T60Ter QLIWIT?
(A) Lmssml@® (B) (ML 2ar@
(C) e ISl (D) e\ 5-B&s

176. The source of energy in any eco — system are

(A) osmotrophs (B) Autotrophs

(C) Lithotrophs (D) Hetrotrophs
GLpmlemneuuiled et <L mmedeT (N&ESIW 2SI

(A) ©4,6enGIDIT DETOTL6VLD (B) o4l GLIT LD6TOTL 6VLD
(C) eperfl n6vOTL_6VLD (D) QeucuGeumi LD6worL_6uLn

177. The Acid Rain Destroys the Vegetation, because it contains
(A) Nitrates (B) Ozone
(C) Carbon Monoxide (D) Sulphuric Acid
6V LMPWITETEH SMeTHS SMTaTHMSUD SPEHGD SHeTemnU|enL WG
6T60fl6L H L LBIF) 2_6TeTenal
(A) emBLGTL (B) eGametr
(C) smiuetT GLmeTTHem & () (D) Fevliw,ifls ojdlevid

178. Name of the place where the River Ganga and Yamuna Joins?

(A) Allahabad (B) Hyderabad

(C) Delhi (D) Agra

HBIMS 3L MILD, W(LPEM6TT QLmILD FHH &G @)L &5 60T GILIWIT 6T60T60T?
(A) oev&TUTS (B) emamsrmuUns

(C) QL6ved (D) sp&gm
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179. Name the dam constructed across the River Sutlej

(A) Hirakud dam (B) Bakra Nangal Dam
(C) Kosi Dam (D) Mettur dam

FLeVY M M6 GM1&HCSH S L LILIL(H6Tem 2 6mevor Ull6dT QLIWIT 6T6oTe0T?
(A) amlgpm@ L. =60 600 (B) LI&TIT - [BrAIS6V 6600
(C) Game o6mevor (D) GBI em 600

180. In which year Madras Mahajana Sabha was started?

(A) 1881 (B) 1882 (C) 1883 (D) 1884

615 2b,600T(H Q& ETEM 60T LG MR 6T Fetll CHTHMINSGSHLILIL L SI?

(A) 1881 (B) 1882 (C) 1883 (D) 1884
181. Where was the first nuclear reactor of Asia established?

(A) People’s Republic of China (B) Japan

(C) Taiwan (D) India

LG H600TLSH 6V (LNSHEVITOUG D 2 6M6V 6TMHIG BloIauLILIL L &I?

(A) D&s6T FaTd G UWTE (B) sgtiimmedr

(C) emseumedr (D) @B@wim

182. Who assumed the title “Chitrakara Puli”

(A) Rajaraja I (B) Narshima I

(C) Mahendra Varman I (D) Nandhi Varman
"AGHTHMT L6 eTedTm eNl(h& QUIWF @ L LLILIL L LO6TEOT T WITI?
(A) Wps6VITID TTITTE360T (B) whsevmib B b 6ot
(C) wseumib CHEHS T 6uTLOET (D) B8 eurjLneor

183. Which Act Provided provincial Autonomy to India?
(A) Rowlatt Act - 1919
(B) Minto — Morley Reform Act - 1909
(C) The Government of India Act — 1935
(D) Montagu — Chelmsford Reform Act — 1919
6THS FL LD @hHHWmelm@ MBlev &UMLE G TTHMS 6ULOMBIG UIG?
(A) Qemeul. &FL_LId - 1919
(B) WerGLIT-0MTed EF&H (HSS FL LD - 1909
(C) @b®w opermis & Lid - 1935
(D) wreor@L&-Q&Fmev SCUTT( EFH;msSsE s Lib - 1919

184. Whom of the following was the chief Organizer of the Revolt of 1857 in Bihar
(A) Amar Singh (B) Kunwar Singh
(C) Pir Ali (D) Imaduddin
185710 2600T() HVEHSHFH T CUMEH BpsH&eorl. BUFsHefley Fesmy Yyl elulesr
62 (1H MBI G 60)600T LILITET T TS @)\ (BH&H6UT WITF?
(A) sy (B) ssettoumy F\mi
(C) I7 =160 (D) @wge Ger
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185. Which one is not part of the Panchayat Raj?

(A) Smiti (B) Village (C) Township (D) Zila Parishad
6TIH G 60T LIGHFMUIS TTRUWSH 6L @) 606m6v?

(A) 08 (B) ®ymoLh

(C) p&Flwib (D) SlevevruflEns

186. Which part of the Indian Constitution deals with Fundamental Duties?
(A) PartII (B) Part III (C)PartIVA (D) PartV
@QBSHW TR wevembLilley QLML E SLeMWGET  6hs UGB ullev
T HHMTEELILL (h6Temg?
(A) umssib 11 (B) umssib 111 (C) umssb IVA (D) ums V

187. As per 2011 census the total urban population in the state of Tamil Nadu is
(A) 27.48 million (B) 34.95 million (C) 36.04 million (D)42.50 million
2011 WDGHHET QTS HeotTse&EMHUILNaTUN SWOILBTLIQ BHILUM LDHH6T

QS MM &H
(A) 27.48 16vedl wiesr (B) 34.95 Wil6ved et
(C) 36.04 6L WIEdT (D) 42.50 wl6ved et

188. Which district of Tamil Nadu produces the highest output of food grains?

(A) Villupuarm (B) Cuddalore

(C) Thanjavur (D) Nagapattinam

SOLBTLIGE  hHS Il LSHe 2.60m6 STolUBSGT AH&HIOMTSH
2 MUSHWTHMSI?

(A) efluiyid (B) &Lgoriy

(C) sErsmey,i (D) mrssLUL1g.6oTLD

189. Area of a square is V2 hectare. The diagonal of the square is

(A) 250 metres (B) 100 metres (C) 50V 2metres (D) 50 Metres
QR FSITHH 6T LITLILIOTE| 1/2 881, 6Tevfl60 FHITE S 60T eLpeneueill L LD

QLGS LD.

(A) 250 LU LT (B) 100 LS Lj (C) 50V2 8L L§y (D) 50 WSU L

190. The Surface areas of two spheres are in the ration 9: 25. Then their volumes are
in the ratio
(A) 27:25 (B) 27:125 (C) 81: 625 (D) 729: 15625
@ GamemmiGerfledr LmUIUFLILeTe&6T 9 : 25 elerm HSEH 2 6Tengl.
MmN &6oT 2|66 & 6rfl6oT el & G LD
(A) 27:75 (B) 27:125 (C) 81: 625 (D) 729: 15625
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191. A Man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the
other he loses 10% find his gain or loss percent on the whole
(A) Loss% = 90% (B) Gain % = 5% (C) Loss % =1% (D) Loss% =7%

@ MEBEHEHIEMTTHIGET @6IGAITETEMMUID ehH. 5945 Meul elmmmy.
@eueumm  aMmEev 10% @evmTU@W WLMMHO 10% BLLIOWD eUBEHS
gOULLS. QMESSH aHHES gmULL @MU g BHLL FHeisl

&HITCO0TS.
(A) pLL s5efsD = 90% (B) @evrruih 556510 = 5%
(C) BLL sF5eifsmd = 1% (D) BLL ggeisb = 7%

192. Simplify () x(2%)

(24)"2x3 % x472
(A 73 (B) 7+ €62 (D)6>
() 2~

(24)"2x3 % x472

A)75 (B) 7+ ©62 (D) 62

& (HS5 G 5:

193. 6 men working 10 hours a day can do a piece of work in 24 days. In how may
days will 9 men working for 8 hours a day do the same work?
(A) 10 Days (B) 15 Days (C) 20 Days (D) 25 Days
6 SL6E00THET @(H CelmeVemW HTGQETTETMISHEG 10 6ol GBI Cealemen QFUISI, 24
BITL&eflev WIQLILF. 9 SL600T&H6T, BTRETTETMI&HEG 8 Levoll GHIWL Ceuemey
QEFUISHITEL 6755 6060T BITL_G6rfl60 2(61G6I6mEVEm U (LOIQ LILIT?
(A) 10 BITL&eIT (B) 15 BITL&eIT (C) 20 BITL&eT (D) 25 BTL&6T

194. A can finish a job in 20 days and B can complete it in 30 days. They work
together and finish the job. If Rs. 600 is paid as wages, then the share of A and
B
(A) 240, 360 (B) 300,300 (C) 360, 240 (D) 400,200
A aeiTLeIT (H Geauemeuemlll 20 BITL &Herflevin, B eretrLioN] 2G% Geauemeveml 30
Bl sefleld wIgliLg. @mel@d GFIbhSl Galemey QFUIS, (6UCaI6V6m I
W19 eH. 600 3, HHIGET aUHEUTWTHL QLIMMETI. 6TeofleL A LDMMID B 6T LIMKIG
6T60T60T ?
(A) 240,360 (B) 300, 300 (C) 360, 240 (D) 400, 200

195. If the average of the values 18, 41, X 36, 31,24,37,35,27,36 is 31. Find the value
of x.
(A) 25 (B) 24 (C) 30 (D) 26
18,41, X, 36,31, 24, 37, 35, 27, 36 @eumnler &Im&ifl 31 6Tevfl6v X 60T L0 LIL| 6T60T60T?
(A) 25 (B) 24 (C) 30 (D) 26
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196. In which city the first Nepal — India “Think tank Summit” was held?
(A) New Delhi (B) kathmandu (C) Dehradun (D) Kolkata

THEBEHEISH 6L (NH6L GrUMeT-@BH WM "Think Tank LDTBHTH” HEOLQALIMHMSI?
(A) UaI19.6060 (B) &m&Ln600r(H)
(C) GLpgm@Geor (D) Q&mevssST

197. The campaign to create awareness among children to identify sexual abuse is
(A) Safety is in your hands (B) Our Safety, Our Rights
(C) Save Child, Save Future (D) Child Safety in police Hand

LIMeSl 60T SI60TLIMIG G606V 2{60)L_UIMTETLD ST60oT & LHem & aerflemL Gl eNldlLiL|6ooTTey
goLL GMAsTeTeT UL L LNFFamyLd

(A) LUTSISTLIL 2 60T 608 Ul6V

(B) BLD LIMGISTLIL, BLD 2_flemin

(C) BB LIMSIGTUIL], THTHTeV LIMSHISTLIL]

(D) ®LHensd LIMSISTLIL], STel6lEHenm 608 Ulle)

198. Black revolution is related to
(A) Fish production (B) Coal Production
(C) Crude Oil Production (D) Mustard Production
&M LTS @S 60T QSMTLFLI60L WIS
(A) ferr 2 HLUSS
(B) plovssil 2 HuSH)
(C) s55mT eTevoTQ 60T 2_MLISS)
(D) 50 2-HuSS

199. Budjet 2017 has proposed as the front office for issuing passport in far
flung areas:
(A) Airport (B) Telegraph Office
(C) Post Office (D) Railway station

2017 pl&plemey NGmsuld QT &STF UGHSaler  SLayFL 6
QIPBIGAISNHG (LHEMLD SeaIeVNTEH SIMIeNEGEHELILILL S 6T51?

(A) ellinmeor Blemevwild

(B) 568 <iaiaiesLD

(C) sumev Plemevuwild

(D) yemseuetorly. BlemeuulLD

200. The Facility announced for senior citizens in Budget 2017 — 2018 is
(A) Aadhar enabled smart card (B) BHIM APP
(C) Shakthi Kendras (D) Pension Scheme
2017 - 2018 pI®Blemev M EHMHUND ENGS G190&H&HEHHHTEH MleNHHLUILIL L
TS
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(A) 2L5MHLET @6eme6orTdaLILIL L 6VTTL 3L emL
(B) 9195 .2.6T1h. QFwed

(C) 555 enlDWIBIG6T

(D) el w S L LD



